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Directions : In each of the following
questions, out of the given alternatives choose
the one which best expresses the meaning of
the given word.

16. AR’I‘IFACT
(A) Synthetic
‘\7(‘5) Man-made
(C) Natural

x(D) Exact copy

11. VESTIGE V?"br? "
(A) Invention
(B) Example
\rm:vidcnce
(D) Experiment
Directions In each of the following

questions, out of the given alternatives choose
the one which is opposite in meaning to the
.r-"'"'"—._-_

given word.
1;. COMMEND (ommend:

Suspend
M Admonish
(C) Hate

(D) Dislike =~

né
13. SERENE Sekt

(A) Jovial
(B) Moving
(C) Agitated~

W Nervous

/03

Directions Read the following passage
carefully and answer the questions that
follow.

It will be a mistake to think that he was given
only ‘bouquets’, he also received many
‘brickbats’. The Christian missionaries took
alarm at his popularity. They used to raise
funds by preaching that India was a land of
heathens waiting to be saved by Christianity.
The American press now began to say that it
was a shame that anybody should try to teach
India religion, rather the world should sit at
her feet to learn it. Vivekananda also said that
India did not need religion but material
support. The missionaries found that the
subscriptions they had so long been receiving
from the people were steadily declining. They
blamed it on Swamiji. They now started
denigrating him in all manner of ways. They
even began to spread scandals against his
personal character. Strangely enough, even
some of his own countrymen joined them in
this for reasons of their own. But ‘Truth alone
prevails’, as Swamiji always preached. He did
not try to defend himself, but others stood up
for him and vehemently protested. Finally, all
such mean attempts failed and his reputation
only rose higher and higher.

14, The passage teaches us

(A) not to believe in religions other than

our own
H)

(C) not to visit foreign lands

not to get involved in scandals

x(D) not to deviate from the path of truth ™

1S. Vivekananda was criticized by the
missionaries in America because

(A) he was a bad student of Western
theology

) he opposed
Christianity

the tenets  of

(C) ﬁmencans had become very fond of
im —

(D) he did not allow them to raise funds
in India

[ P.T.O.
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16. Swami Vivekananda told the American
“ people that India

(A) did not the

Church
@)

approve Catholic

would teach religion to those who
sit at her feet

+(C) required religious and material help

(D) was self-sufficient in religion
though poore

17. Vivekananda’s rapport with the

-

American people

« (A) helped India get substantial aid

(B) made his friends desert him
(C) annoyed the American Government

(D) caused a drop in Church’s

collections ~—

18. Vivekananda did not defend himself
because

=

he believed in the ultimate triumph
of truth

(B) he was in a foreign land

(C) some of his countrymen were
opposing him

(D) he had brought many friends along
to fight for him :
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: following questions
Directions : In each of the foll
(Question Nos. 19 and 20), pick out the most

effective word from the given words t(? fill in
the blank to make the sentence meaningfully

complete.

19. A number of advances in medicine

would have been . sooner if free
enquiry had been common and orthodox

thinking habits had been rare.
. (A) persisted
(B) inducted

(C) secured

(D) achieved —

20. The ﬁnal electoral rolls have been

intensively revised through house to
house

(A) investigation
(B) enunciation

'\I(C)/ enumeration

+ (D) documentation
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21.

22'

23.

24.

25.

26.

27.

28.
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Among the famous personalities of

Haryana, who among the following was
the seniormost?

(A) Sir Sadi Lal

(B) Pt. Nek Ram

(C) Rao Tula Ram
(D) Sir Chhotu Ram

The first Assembly Election in Haryana
was held in the year

(A) 1952 (B) 1960
(C) 1956 (D) 1966

Which among the following is the least
populated district of Haryana?

(A) Rewari (B) Panchkula

(C) Fatehabad (D) Jhajjar

The Indian Institute of Wheat and Barley
Research is located in which district of
Haryana?

(A) Karnal (B) Kaithal

(C) Mahendragarh (D) Yamunanagar

The National Milk Production Research
Institute is situated in the city of

(A) Yamunanagar

(B) Panipat

(C) Faridabad

(D) Karnal

The famous lake situated in Karnal for
tourist attraction is known as

(A) Badakhal lake

(B) Karna lake

(C) Sultanpur lake

(D) Tilyar lake

‘Hriday Haryana’, situated in the middle
of Haryana State, is the city of

(A) Jind

(B) Rohtak

(C) Sonipat

(D) Karnal

The historical grand tomb of Haryana
which has a relationship with Sheikh
Chehli is situated in which place?

(A) Nuh '

(B) Palwal

(C) Kurukshetra

(D) Hansi

S

ghamn fi Frfafes wea fafrt & w=a
aftg #1 &7
(A) W HEEE
(B) ufred Jem
(C) T garR™ —
W) mem |
22. # wdvem fum v w1 e B e
gt o1?
.(A) 1952 (B) 1960
(C) 1956 (D) 1966 7
23, gfamn # Freffes § ¥ PR-W F9E FH
ayraré) aren fren 87
@A) @ W) e
(C) WAETER (D) F=R
24, Theamn ¥ e R B e g ofR S
TeyH w87 -
WVA) FEE (B) U«
(C) We=Te (D) IR
25.rraﬂugtu3?qmaqga=mﬁwnﬁawﬁ
fom 27
(A) FIGTHTR
(B) 9HIYd
(C) =R
LAD) +ETE
26. FEE 1 B v & T uftg die &1«
TH R
(a) “sEd 9
(B) =i #a
(C) FeaR HiS
(D) T #ie
o7, g % wa i fRa ‘T shaen wE-A
TR 7
) e
. (B) UEa®
(C) WHIYd
(D) FET
8. i@ F1 Wi wou Hehew, e gy
@ Techi A R, P I w37
a) ® =
(B) Heldcd .
(C) Fwad ~
- (D) wEh

".:'}.
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29,

30.

Pandit Mangeram is related with which
mode of cultural activity?

(A) Saang tradition

(B) Education and literature

(C) Horror writings

(D) Appearance

Banabhatta was the friend and State
poet of which among the following
kings?

(A) Prithviraj Chauhan

(B) Harshavardhana

(C) Ananga Pala

(D) Hemachandra

31.

32.

Where is the manufacturing of the iron
pipes mostly done in Haryana?

(A) Sonipat

(B) Faridabad

(C) Gurgaon

(D) Hissar

The famous ‘Yadavendra Garden’ is
- situated in -

(A) Morni (B) Pinjore

(C) Faridabad (D) Karnal

33.

34.

35.

36.
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Hot water reservoir, assistant in skin
disease treatment, is situated in

(A) Sohna

(B) Surajkund

(C) Kurukshetra

(D) Taraori (Tarawari)

Maharaj Agrasen is related with which
city?

(A) Sirsa (B) Pehowa

(C) Rohtak (D) Agroha

When did Haryana receive the full State
status?

(A) 1st November, 1966

(B) 30th January, 1970

(C) 20th June, 1965

(D) 2nd October, 1968

Pt. Jasi'aj is famous for which artistic
achievement?

(A) Classical music

(B) Folk song

(C) Folk dance

(D) Poetry writing

Download from www.M
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317.

38.

39.

41.

42.

(A) Bhiwani

45.

/03

In fountain irrigation, Haryana stands

in India.
(A) first (B) second
(C) third (D) fifth

Which of the following districts is not
sandy?

(A) Mahendragarh
(B) Bhiwani

(C) Rewari

(D) Kurukshetra

How many Members are sent to the
Rajya Sabha from Haryana?

(A) Two (B) Four

(C) Five (D) Seven

. During the reign of Harshavardhana,

which city of Haryana was prosperous?
(A) Faridabad (B) Fatehabad

(C) Thanesar (D) Panchkula

Which factory has been set up in Baholi
of Panipat? ’

(A) Fertilizer
(C) Cement

(B) Sugar mill

(D) Qil purifier
Among the following, which places do
not have the metro rail facility?

(A) Delhi-Faridabad

(B) Delhi-Gurgaon

(C) Delhi-Samaypur Badli

(D) Delhi~Jhajjar

. KMP stands for :

(A) Kurukshetra Manesar Panipat
(B) Kurukshetra Mahendragarh Panipat
(C) Kundli Manesar Palwal

‘(D) Kundli Manesar Pataudi
_ Which district is irrigated mainly by the

Jui canal?
(B) Kurukshetra

(C) Sirsa (D) Sonipat

The golf course of Aravali is made in the
district of

(A) Mahendragarh

(B) Rewari

(C) Bhiwani

(D) Faridabad

37. T faem-diemn i gfte |, vRawn @ W
A HE-91 WE 27 '

(A) wEH (B) T
(C) e .(D) uf=af
38. frefafaa ¥ ¥ Sw-a fen Wen 78 7
(A) HE=TE
B) foar
(C) el

fAD) Fra
30, ghamn ¥ Usa @ i fha TEE ¥ 9 €7
() = B) WM
VC) T (D) W

40. T¥aE % TEEE § AT F FH-E TR
Avg-ged A417
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o) = (D) wEFa
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417.

- (©)

48.

49.

. Litmus is obtained from
(A) a bacterium (B) a fungus
(C) an alga (D) lichen

The highest Indian waterfall is
(A) Gokak

(B) Gersoppa
Shivasamudram

(D) Yenna

Zinc sulphide is commonly used as
(A)
(B)
(©)
(D)

fungicide
herbicide
rodenticide
deodorant

Who was popularly known as ‘Nana

. Sahib™?

- 50.

51.

52.

- B3.

/03

(A) Baji Rao I

(B) Balaji Baji Rao

(C) Balaji Vishwanath

(D) Madhav Rao

The Constituent Assembly of India was
set up on the recommendation of

(A) Cripps Mission

(B] Wavel Plan -

(C) August Offer

(D) Cabinet Mission

The telephone line is connected through

which of the following to the computer to
use Internet? '

(A) USB
(C) Ethernet

(B) Modem
(D) Switch

Which of the following is an indirect tax?
(A) Capital gains tax

(B) Wealth tax

(C) Service tax

(D) Corporate tax

The Gupta emperor Samudra Gupta
called himself

(A) Lichchhavi-Dauhitra

(B) Kumaradevi-Putra

(C)
(D)

Devanampiya
Sthaneshwar

8

47.

48.
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(C) fRrawgsm
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50.

(C) et faayg
(D) wHIHaTE

mﬁaﬁmﬂwwmﬁmm
o T en?
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51.

(B) dda wIH
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52

(]

53.

(&) Fo wHo Ho . (B) WA~
.(C) uTiE (D) fe=
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(A) it <

(B) Hufe &

(C) JME —

(D) Fm
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(B) FAT-A

< (C) ST
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54. Which of the following supports the
particle nature of photons?

(A) Interference
(B) Diffraction
(C) Polarization
(D) Photoelectric effect
55. Who won the men’s singles title of the
2016 Wimbledon Tennis Tournament?
(A) Milos Raonic
(B) Andy Murray
(C) Stan Wawrinka
(D) Roger Federer
56. The government has constituted a
committee to examine the desirability

and feasibility of having a ‘new financial
year’, headed by -

(A) Rajiv Kumar
(B) P. V. Rajaraman
(C) Rajiv Takru
(D) Shankar Acharya
57. Which of the following is a Landlocked
Sea? -
(A) Timor Sea
(B) Arafura Sea
(C) Greenland Sea
(D) Aral Sea
58. Who wrote Akbarnama?
() Akbar
(B) Birbal
(C) Abul Fazl
(D) Bhagavan Das _
59. Siraj-ud-Daulah was defeated by Lord
Clive in the Battle of
(A) Plassey
(B) Buxar
(C) Munger
(D) Bandipur
60. The Constitution of India came into
force on
(A) 26 January, 1950
(B) 26 January, 1952
(C) 15 August, 1948
(D) 26 November, 1949

/03
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61.

62.

Which of the following branches of
science deals with life in other planets
and space?

(A)
(B)
(@)
(D)

Space biology

Alien biology
Exobiology
Extraterrestrial biology

Which of the following international
organizations is the product of the

- Bretton Woods Conference?

63.

' 64.

65.

66.

67.

/03

(A) WTO
(C) ADB

(B) IMF
(D) UNICEF
Which famous company of Pinjore has

been closed down by the Haryana
Government?

(A) HCL
(B) HMT
(C) HSR
(D) BSNL
India launched ‘Operation Sankat
Mochan’ recently to evacuate Indian

citizens standed in which of the
following countries?

(A)
(B)
(©)
(D)
The shifting of a computer program from
one memory location to another is called
(A)
(B)
(©)
(D)
Who was the first Muslim President of
Indian National Congress?

(A) Muhammad Ali Jinnah

(B) Muhammad Igbal

(C) Khan Abdul Ghaffar Khan

(D) Badruddin Taiyabji

In which Part of the Indian Constitution,
the fundamental duties are enshrined?
A) IV (B) IVA

C) Vv (D) VB

Nigeria

Libya

Syria

South Sudan

data mining
reloading

data collection
relocation
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61. fge f frg wr@ ¥ awid 9 W& W
st # shem o s1orEa R S &7
Ph) saRe sa-fm
(B) e sfa-famm
() wE Sa-fagm ~~
(D) e Sfa-faam

62. Freffaq g dmel § & HH-8 Fe
IS0 FH3HE 1 IAE 87
(A) T&ge fo 3o (B) ATZo THo Tho—
*(C) To o o (D) FHE®

63. =i g@r g s i fFa e e
1 52 T mT?
(A) THo Hio Yo
{{B) TIo TWHo o
(C} Tdo THo Ao
(D) #flo THo THo Tgio

64. Fr=fafiaa #§ / fFw 3 § 3 v ArTiERl
H TEE @ I ® U Ee @ F wRa A
‘HTTE gehe Hrem =Sendn?
(A) TSt
(B) fifern
.(C) wifem
(D) =& gzH —

65. FYX WU H TH AN WhTE § W A
ARG F & iR FEerd &
(A) =21 ATEF
(B) Tt
(C) A FaiRH
w{D) {ediFe

66. I TEA S TH gEm e
FA o1?
(A) gEwre areh fmn
(B) TR THATA
. (C) TH A THFR @H
(D) EEH ag=sh

67. VI WiaYA & frm s § v wd=’ =
wfewia foman w7
(A) IV
C) V

B) IVA
(D) VB
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68.

69.

70.

71.

72.

73.

74.

75.

Who is the brand ambassador for Beti
Bachao Beti Padhao campaign in
Haryana?

(A) Priyanka Chopra

(B) Deepika Padukon

(C) Parineeti Chopra

(D) Imran Khan

Fog is an example of

(A) gas dispersed in gas

(B) liquid dispersed in gas

(C) solid dispersed in gas

(D) solid dispersed in liquid

Jaundice is caused due to the infection
of )
(A) “brain
(C) kidney

(B) liver
(D) spleen

Visveswarayya Iron and Steel Co. Ltd. is
located at

(A) Bengaluru
(C) Mangalore

(B) Bhadrawati
(D) Mysore

Vijay Stambha at Chittor was built by-
(A) Maharana Pratap :

(B) Rana Sangram Singh

(C) Rana Kumbha

(D) Rana Ratan Singh

Anga, Chedi, Kosala, Asmaka. All of
these are

(A) viruses

(B)
(€
(D)

diseases
mahajanapadas
dynasties

Pulsars are

(A) stars moving towards the earth

(B) stars moving away from the earth
(©)
(D)
Rashtrapati Bhawan was designed by
(A) Edward Stone

(B) Le Corbusier

(C) Edwin Lutyens

(D) Tarun Dutt

rapidly spinning stars
high temperature stars

68. TN A FA Feh, A were wfEE F 98
e B §7
(A) Priw e
(B) it g
WAC) TR =gt
(D) TH @H
69. FIgU Th JET &
() ra # uffew |
y/(B) Tru ¥ uftfem 5o
() & & affEm 3@
(D) ¥a ¥ uitiEw 3

70. fEq FFes THA0 H HRO Sl 87

() R B) Fm =
© W (D) il

1. R s e Wiet o o safem
. (A) e H (B) wsEd A
© FewdA - (D) FEH

72, Tadire = fasg v s=amE T 9O
. (A) HETIOT YA g
(B) Ton ™ & g/
(C) TIoT FH1 R
(D) Ton wA fR g\

73. 3, I, FEd, 3| A vl E
(a) femmy (B) it
(C) WEEATE <~ . (D) =W

74, ‘TEE B

(A) get SR TEd gL AR
(B) g & A AR
Jt€) 0 A T gL AR
(D) 3%9 A9HH 9T AR
75. Tl We &1 oA s=mn o
A wEEERI
(B) h wrfR 3
(©) wefm gedwl”

(D) T < A

/03 11 [ P.T.O.
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76. Which of the following is true for

96* 6+ 8%27
j(ﬁ() +, = X (B) % = +
(C) = + X (D) = %, +
77. The value of ’M is
1-1x0-11
A 2 - WB) 3
(C) 9 (D) 11
" 7({ IJ_f-IfTSI 'I‘hree—ﬁﬁ.:h of the square of a certain
— A= number is 126°15. What is the number?
s L&) 145 (B) 7569
(C) 145 (D) 210-25

79. By what least number, 675 be
multiplied to obtain a number which is a
perfect cube?

L1A) 5 B) 6
c 7 (D) 8
80. The value 'of ¥21+4/16+98 is
A) 8 B) 5
C) 4 LD) 3
81. The HCF of 22x32x 5%,

03432%52%72 and 2% x3%x5x7%x11
is '
(A)
(B)

22532 x5x7x11
2% x3%x5°

(€) 24x3%x5°x7x11
WD) 22x32%x5

The least number, which when divided
~ by 20, 25, 35 and 40 leaves the

remainder 14, 19, 29 and 34
respectively, is ’
(A) 1664 B) 1406
(C) 1404 (D) 1394v":
- _% i al to
83.( %J is equ
1 1
(A) 5 (B) o
(C) -49 (D) 49

84. Given +2=1-414, then the value of
(+8+2v32-3/128 +4+/50) is

wr(B) 8484 (B) 8:526
(C) 8426 (D) 8-876

/03
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77.

78.

79.

80.

81.

82.

83.

84.

Kogps 7t =

q

76. 96*5*8*2%51%—111%1?[%@1—111@%?
A) + = X (B) X = +
(C) = + X D) = %X *
208 g
1-1x0-11
@a 2 (B) 3
(C) 9 (D) 11
ﬁﬁ%ﬁm%aﬁm%?ﬁm 126-1’52.?‘1{33-'; ]
A L] =
(A) 145 (B) 7569 gqu-m'f
(C) 145 (D) 210-25 i
fira =an gE @ 675 F TN FH T AW
Her vh O g wen we S KRS
(A) 5 (B) 6 =17
(C) 7 (D) 8 7
%21+J1_6+%'§mm% 3
(A) 8 (B) 5 R,
C) 4 (D) 3
22x32x55, 23x3%2x5%x7? R
2%%3%x5x72x11 6 WHEAH HAYEIH
(HCF) ®
(A) 22 %32 x5x7x11
B) 2%x3%x5%
€©) 2%x3%x5%x7x11
(D) 22x32%x5

98 =qaaq ge, f™® 20, 25, 35 3 40 |
qm 3 W EEE: 14, 19, 29 3R 34 I
ual E, B |

(A) 1664 (B) 1406
(C) 1404 (D) 1394
(-L)_E ¥ U 3

343
: 1 1
@& -z5 (B) 35
(C) -49 (D) 49
ot 2=1414, T

(V8 +2v32 - 3V/128 +4+/50)

F1AH &
(A) 8484 (B) 8526
(C) 8426 (D) 8-876
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32}38? of the two is greater, 2300 or
(A) 32007 A~TB) 2300
(C) Both are equal
(D) Cannot say

g5, 2300 afy 3200 3 3 PR e 87

(A) 3200 B) 23%

(C) <l §AH &

(D) 7 T < Wl s
86. If A=5+216, then the value of VA+—= | 86. 7R A=5+2V6, T ‘/Z’“:/%W m_% ;4{:2?3(

57 1.4

, JA
" _
LA) 273 (B) V3

€ 2 (D) 7

87. The difference between the largest

4-digit number and the smallest 3-digit
number is '

&) 9899 (B) 8999

(C) 9989 (D) 9889
88. A father is three times as old as his son.

Five years later, he will be two and a half
times as old as his son. Then the
present ages of father and son are
(A) 42 years and 14 years

(B) 48 years and 16 years
(C) 57 years and 19 years

D) 45 years and 15 years

89. When 60 is subtracted from 60% of a
number, the resultant is 60. Then the
number is

lA) 200. (B) 140
(C) 170 (D) 300

90. The denominator of a fraction is 1 more

than twice the numerator. If the sum of

fraction and its reciprocal is 2%?, the

fraction is

a) 2 J'fB)/

87
B == (D)

he value of a machine depreciates at

the rate of 10% per annum. If its present
value is ¥ 1,00,000, what will be its
value after 3 years?
() ¥ 80,000 (B) ¥62,900
©e) €72,900 (D) €81,000 ~
92. The present ratio of ages of A and B

is 4:5. 18 years ago, this ratio was
11 : 16. Find the sum of their present

ages.

L4%) 90 years

(C) 110 years

O =W

(B) 105 years
(D) 80 years

/03
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‘(A) "2J§ (B) V3
© 2 (D) 7
87. 4-3i TETH & 3R 3-aihy <FaH qEAl
Eafc il
(A) 9899 (B) 8999
(C) 9989 (D) 9889
sa.qmﬁmaﬁgﬂﬁ?ﬂﬂwa@%mhm
o e AW A @ T as @ s f
T T ) FEEH A R
(a) 42 = 3 14 74
B) 48 =¥ 3R 16 =
(C) 57 =d 3w 19 =d
(D) 45 =d 3w 15 =
80, aft e FEm F 60% § ¥ 60 TR W.60
o A 2, 9 9% HEm R
(A) 200 (B) 140
- (© 170 (D) 300
90.%%%@@%3{%3@%131%%1
wﬁﬁa@mwmﬁnz%’-%,ﬁraﬂ
T -
(A)

k" L

(B)

o il

(€ (D)

17

O~ ~Nlw

o1. freh wefiA i Fma 10% A« wfa ad =4

i 21 7R I9h =8 FHa € 1,00,000 B,

At 3 94 9 Ih g frah Bef?
(A) ¥80,000 (B) ¥62,900
(C) ¥72,900 (D) ¥81,000

92. A ¥ B #l A Y 1 (YW 4: 5 R

18 @ UEA T® U@ 11:16 uWI| IR
qAH 3T N A Feret|

(A) 90 =¥ (B) 105 ad
(€) 110 =9 (D) 80 T

[ P.T.O.
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93. Find the average of the numbers
3 1 1 1

2218 42, "B
4 3 6 2
s 52 B) 3>
16 16
5 s 16
C) 16— D) 3—
© 162 D) 3%

94. The ratio between the selling price and
the cost price of an article is 7 : 5. What
is the ratio between the profit and the
cost price of that article?

S 2:5
B) T:2
(C) 2:7
(D) None of the above

95. The simple interest on 7,380 from
11 May, 1987 to 11 September, 1987 at
5% per annum is
?123 (B) €103
(€) ¥200 (D) ¥223
96. The present worth of ¥169 due in
2 years at 4% per annum compound
interest is ; :
. (A) ¥150-50 (B) ¥154-75
) F156-25 (D) ¥158
- 97. A man can do a piece of work in 5 days
but with the help of his son, he can do it
in 3 days. In what time can the son do it

alone?

(A) 6% days (B) 8 days
1

(C) 7 days 11'5] 75_ days

A man covers half of his journey at
6 km/h and the remaining half at
3 km/h. His average speed is
L&) 45 km/h (B) 3 km/h
(C) 4 km/h — (D) 9 km/h
99. If three sides of a triangle are 6 cm, 8 cm
and 10 cm, then the altitude of the
triangle using the largest side as base

will be
(A) 8 cm (B) 6 cm
148) 48 cm (D) 44 cm

100. A wheel makes 10000 revolutions in
covering a distance of 88 km. The
diameter of the wheel is
(A) 14 m (B) 24 m

2:8 m (D) 22 m

/03

= I | o foreeTed |
93.3@1@22, 5-:1;,4~, 8 1 HEd

6 2 5
(A 51—36- - (B) 37
5 D 3_]19
(C) 16-3- (D) 53 |
: @%ﬁ;{;ﬁ %ﬁﬂ@ﬁmmﬁm
ﬂﬁqﬁaﬁgzs%mﬂﬁiwamm
T 1 A TRl @7
(A) 2:5
B) 7:2
C 2:7
(D) 39 & A FI3 T

95. '5% aifis == @ X ¥ §7,380 FH mtm;
= 11 @8, 1987 & 11 Toawr, 1987

o e Bm?
(A) ¥123 (B) ¥103
(C) ¥200 (D) ¥223

96. 4% afis whafe = A R A 2 T4 TR
oo €169 B 949 AU @ :
(A) €150:50 (B) 15475 |
(©) ¥156:25 (D) ¥158

97. T =Afn e ol 5 Al H R EEwa
AfF 98 T @ H TEEa | 39 FE Bl
3 Al # QU R uEa B 3@ FE H IEH

HEH bl fohad WHA W QU M7
(A) G%ﬁ:{ B) 8 fA
© 7 A (D) 7%%4

98. T EH AT AF F [ T 6 km/h
qn @yt & 3 km/h 6 Tfd | T = )

3t 3frga fd ®
+(A) 45 km/h (B) 3 km/h
(C) 4 km/h (D) 9 km/h

99, 7f2 frel frgs it Y9 6 cm, 8 cm 3R
10 cm B, @ TR = YN N AER N /

e 1 F18 Tl

(A) 8 cm (B) 6 cm

(C) 48 cm (D) 44 cm
100. T W 88 km B T 7@ %0 H10000)

9 T B | 93 A

(A) 14 m (B) 24 m

(C) 28 m (D) 22 m
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10.

Candidates are warned not to carry handkerchief, any
mobile phone, any type of watch, belt, wear ornaments
like ring, chain, earring, etc., electronic or
communication device, pen, pencil, eraser, sharpener
and correcting fluid in the Examination Centre, If any
candidate is found possessing any such item, he/she will
not be allowed to enter in the Examination Hall.
Candidate found possessing mobile phone and any other
aiding material as mentioned above in the Examination
Room will be treated as serious violation and it will
amount to cancellation of the candidature and debarring
him/her from future examination. Use of eraser, nail
blade, or white fluid/whitener, etc., -smudging,
scratching or damaging in any manner in the OMR
Answer Sheet shall lead to cancellation of candidature
and such OMR Answer Sheet shall not be evaluated.

afa

:
i%
:
]
:
%
1

i
?Ennaﬁmwmaﬁﬂmﬁim

g W
Eﬁﬁﬁmm%w\umﬁwﬁmmﬁ

fory w el 1 OMR Ja-a P & smem #iR
@ﬁm-mﬂwﬁmml

11. The written examination will be supervised by doing
frisking before allowing entry into Examination Centre, | 11. fifiaa wien % Rso # e -Fs # w39 A Ted emd F
using CCTV Cameras, Biometric Attendance process by sfafer, COTV ¥9a, @ 3 F fem
capturing the Biometric thumb impression and = e, o ; i wim % wEm s
Photograph of the Candidates during the Examination, ! e & WA W
Videography and Jammers, etc., shall be used in the e § @i The F) AF1 o G AR TF
Exg.m.ination Hall/Examination Centre to stop copying ‘| | EaH T« e | 2 whl .
and impersonation, etc. i . T o pren
; , 2 ufEd . qlle-gie g :
12. Candidate’s request to change the Examination Centre 12, W= :
st im e ot o e ot pe | et sy svemdf R g R R =l T S|
camcanon. ' 13, e I SAYI-A A Sufeuf o A o % A i
13. The scanned photograph of the Candidate on his/her o T2 w1 e apadi @ T s spaedff 3R Lopil
Admit Card or Attendance Sheet will be tallied with the sl % frft ot v B faEnfe gEft R W
Candidate appearing in the 'Examination by the HATH il - i ahiiny
Invigilator. In the event of any discrepancy in the sl A ghen § vam A FFAA el
identification and vcﬁcilicaﬁul_rll lnf th; candidate and i SEm w9 Em |
photographs, the candidate shall not be allowed to sit in
the Examination and be liable for criminal prosecution. | 14. OMR IR-% ) # wfeal &, 7@ i, Wﬁ:ﬁﬂgf 37’“"‘2
14. The OMR Answer Sheet consists of three copies, the ¥ 3% Faf Fe A F) OMR IW-I9F m@a
original copy, the commission copy and the candidate’s Mell F wer-3em e 7 w0 sadl glan wEw i
copy. Do not separate or displace them. Do not darken OMR F-u=F #1 1 wfedl = arem By famn s qiEEF
e bubhics e copes o e Ok Ko $het | Q1 e 3 o0 s o8 2
separately. Candi ! 3 it
Shl:::et without separating the three copies to the S | el 3T WY T wdien S I
Invigilator at the enddol‘ the Exam;rnanon. Invtl.igilat_?r'l\?lw_ill 15, EF T ¥ 90 dsfeus sw Ry § R A ¥ad & T
hand over the candidate’s copy after separating it. The 4 3
candidates are-allowed to take away this Test Booklet %Tﬁagg :gﬂmt ?&%M%Tmm mm F
. with them. ) 1 ‘ GRED AT
15. Each question has four alternative answers of which only HE T ITE Y Faa A /Fa A o A
one is correct. For each question, darken only one circle, w0 | e oA F e F1 WA 8 == 2] AR
whichever you think is the correct answer on the OMR it 3 F o o @ fum el = e Ben T 3, @ 3w
Answer Sheet with only BluafBrl:clltdBlll:’;n pro‘;ldfedr I F A AE R )
by the Commission. Pencil should not be used 1o L
d.:rkc:ingpg:e circle. If more than one: circle is found | 16. w&m % 5o 3R ifm dm e F S e oft s =1
darkened, that answer will not be cvaluated.th i A (qufm) # w3 A :ﬂiqﬁ‘ 2 )
16. No candidate shall be allowed to go to the tole fedl ¥ PN o e o -
“washroom during first and last thirty minutes of the | 17. any OMR J =3 it sEfa
examination. . N, . | AR = OMR - @rell Wié 7§ M wieies 38 W
17. No candidate shall be allowed to leave the OMR Answer TE A % TTEI A FENER F &N 3N I8 W ‘Cancelled
Sheet blank. If any t(ithR Ansl:rcr s}g:;t I:'s !}Dﬁ:;dé;l::{& r’; @ 3 _
‘'shall be crossed by the Invigilator with his . )
and mentioning,‘Cancelled’ on it. 18. 3M9% OMR W-ﬁiﬁﬂ sfe geagite whim gaE 3 6
18. Your OMR Answer Sheet will be evaluated through i | A 91 e T A9F OMR IW-99F IHH 8
electronic scanning I:u'og:rziﬁi ;Ecomplscltlzcgmlg:&rrect Al %!
entries may render your swer . §
19. Carefully fill in all the necessary particulars on the OMR | 19. 9%& HAEREH ﬁ;lm ‘Hﬁﬂzﬁﬁliﬁiﬁ \Oh% 3%?'!1 REc: o i |
Answer Sheet. Change of OMR Answer Sheet is not OMR I -94F S Crel -ﬂﬂ‘lia
ot . ; i ARiE R R T A R s d
20. While darkening the appropriate bubble(s) in the boxes, | 20 ﬁ% Eﬁl U‘!ﬁ 1 T D i T ﬂﬁl‘; Pl ;’g
darken the chosen bubble(s) fully as given below. If you a p el W"ﬂa[ P
darken more than one circle, your answer will be treated I FH A HA AT Fl YT g
as wrong and such answer shall not be evaluated. i :
CORRECT METHOD / §& alis WRONG METHODS / TreTd gD
®00® A0 AFOO ®e0® ®®O®
21, 1f a candidate does not comply with the instructions as | 21. 3 =g apadl frell # eR TE @ R W e
mentioned above or creates any kind of indiscipline, the i G g, @ f’ﬁw w6 g wrdard Tﬁm af
Commission shall take action as per instructions and in s aifafees 30 i of 9m e Thanst R of S fren
addition can also debar the Candidate from appearing in o1 wE b1 IO faeg STt FEaTEl W N o = fn
the Examination, to be held in future and can also file 2
criminal proceedings. M ww
/03 16 CC7—00

e
/=50
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